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w. | Pwduh wbwn' gqluwdnp hwoduwwh 0.90 1
p. | wowuwwh 0.70 2
g. | Sunbuwlwu dwuh wbwn 0.70 1
n. | MwhbGunmwuwbin 0.40 1
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w. | Pwdup whiwn 0.75 1
p. | UWJwgqg thnpdwgbin 0.65 5
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w. | Pwduh wbin 0.75 1
p. | Ujwqg thnpdwgbin 0.65 3
g. | Pnpdwgbin 0.60 2
n. | Kwdwlwpgsh owbpwwnnp 0.30 1
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thnpéwpuunyeyniuubph pwdhu
w. | Pwduh wtiwn 0.75 1
p. | UJwg thnpdwqgbin 0.65 4




g. | Pnpdwgbin 0.60 1
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w. | Pwdup wtiwn 0.75 1
p. | UWwgqg thnpdwgbin 0.65 4
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w. | Pwdup wtiwn 0.75 1
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w. | Pwdup wbun 0.75 1
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p. | UJwg thnpdwqgbin 0.65 3
g. | Pnpéwgbin 0.60 8
n. | Skjuuhjuywu dwutwagbun 0.55 1
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p. | Ujwg thnpdwgbin 0.65 3
g. | Pnpdwgbin 0.60 1
n. | Kwdwlwpgsh owbpwwnnp 0.30 1
12. Uy pwupwghnwlwtu hnpdwptunipiniuutph pwdhu
w. | Pwduph wbun 0.75 1




p. | UJwg thnpdwqgbin 0.65

g. | Pnpdwgbin 0.60

n. | Auwybpwnuubph dwutwgbun 0.55
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